ROB, [b-F
M= 202, F':Wo"’) =025 FID A
RANGE OF W Ff WO TIPANG

L = mg = (20 ) 151 ”4?) = (962"
ij\f‘{ /4/[5(7 : l\) A) 'V/ZB =0
’\)L £ /\) = ‘ (@ 2\

L/

ZR= M, : F-Fi-F = He
= ppy = a0 = ma
= i LF-pe (W o)

& =gy (100%) ~0:25(62)] = zjm

Chpier eidr @ TP G ) Mffo) o

i/‘/i,q, & Z(/@)gp’;’ *_'j:"
—hF -0.3m9 + 04N, = -0.9Ma
h= ¢ (0ama -0.3m3 4 o6n.)

= Y62

A




PROB, [6-TF codT |
h= oo ) 0.9G0P 257 2) 03 (19%:27) +0.6(1 %Jf)j
[ =logr™ |
CABSET 72005 70 TP <C Ji W), = O

N, = (96.27

7 My = Z(EZ&‘)&FF )

~hF - 03M3 =-0qma

»Jf(oqmca «73#49) tloaa @,39)

iz ((00"’) [0‘%(1 5‘!7) 03@7)‘()] - O30 ™

E £ e [ 0&/7?’_‘_




